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Problem 1A 1 Menu Lesson Print NAME DATE CLASS
2. It is estimated that the sun will exhaust all of its energy

in about ten billion years. By that time, it will have radiated

about 1.2 &times; 1044 ] (joules) of energy.
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Problem 1A METRIC PREFI)ID(aIlEgSe §$OBLEM In Hindu chronology, the




longest time measure is a para. One paraequals 311 040 000
000 000 years. Calculate this value in megahours and in
nanoseconds.Write your answers in scientific notation. SOLUTION
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Problem 1A METRIC PREFIXES PROBLEM In Hindu chronology, the
longest time measure is a para. One paraequals 311 040 000
000 000 years. Calculate this value in megahours and in
nanoseconds.Write your answers in scientific notation.
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Holt Physics Problem 2E FINAL VELOCITY AFTER ANY
DISPLACEMENT PROBLEM In 1970, a rocket-powered car called
Blue Flameachieved a maximum speed of 1.00 ( 103 km/h (278
m/s). Suppose the magnitude of the car’s constant acceleration
is 5.56 m/s2. If the car is initially at rest, what ...
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Holt Physics Problem 12A HOOKE'S LAW PROBLEM The pygmy
shrew has an average mass of 2.0 g. If 49 of these shrews are
placed on a spring scale with a spring constant of 24 N/m, what
is the spring’s displacement? SOLUTION 1. DEFINE Given:
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Holt Physics Problem 1A METRIC PREFIXES PROBLEM In Hindu
chronology, the longest time measure is a para. One paraequals
311 040 000 000 000 years. Calculate this value in megahours
and in nanoseconds.Write your answers in scientific notation.
SOLUTION Given: 1 para = 311 040 000 000 000 years...
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Holt Physics Problem 1A METRIC PREFIXES PROBLEM In Hindu
chronology, the longest time measure is a para. One paraequals
311 040 000 000 000 years. Calculate this value in megahours
and in nanoseconds.Write%ggg/9nswers in scientific notation.
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